Please show all possible ways to work these problems using tables, formulas, and Excel.

When using Excel, please show me what formula to use and how to enter it.

11. Treatment costs for Herceptin are provided by a simple random sample of 10 patients.

                         4376       5578          2717          4920             4495

                         4798       6446          4119           4237            3814

a. Develop a point estimate of the mean cost per treatment with Herceptin.

b. Develop a point estimate of the standard deviation of the cost per treatment with Herceptin.

12. The AAII polls its subscribers on a weekly basis to determine the number who are bullish, bearish, or neutral on the short-term prospects for the stock market.  Their findings for the week are:

                 Bullish 409               Neutral 299              Bearish 291

  Develop a point estimate of the following population parameters.

a. The proportion of all subscribers who are bullish.

b. The proportion of all subscribers who are neutral.

c. The proportion of all subscribers who are bearish.

21. The College Board reported a population mean SAT score of u=1020.  Assume that the population standard deviation is o=100.
   a. What is the probability that a random sample of 75 students will provide a sample mean SAT score within 10 of the population mean?

   b. What is the probability a random sample of 75 students will provide a sample mean SAT score within 20 of the population mean?

23. On the basis of a survey of MBA graduates, assume that the mean salary for male and female graduates 10 years after graduation is $168,000 and $117,000, respectively.  Assume the standard deviation for the male graduates is $40,000 and for the female graduates it is $25,000.
a. What is the probability that a simple random sample of 40 male graduates will provide a sample mean within $10,000 of the population mean, $168,000?

b. What is the probability that a simple random sample of 40 female graduates will provide a sample mean within $10,000 of the population mean, $117,000?

c. In which of the preceding two cases do we have a higher probability of obtaining a sample estimate within $10,000 of the population mean?  Why?
d. What is the probability that a simple random sample of 100 male graduates will provide a sample mean more than $4000 below the population mean?

25. The average price of a gallon of unleaded regular gas was reported to be $2.34 in Kentucky.  Use this price as the population mean, and assume the population standard deviation is $.20.

a. What is the probability that the mean price for sample of 30 gas stations is within $.03 of the population mean?

b.  For 50 gas stations

c. For 100 gas stations

d. Which, if any, of the sample sizes above would you recommend to have at least a .95 probability that the sample mean is within $.03 of the population mean?

27. A simple random sample of size 100 is selected from a population with p = .40.

a. What is the expected value of p?

b. What is the standard error of p?

c. Show the sampling distribution of p.

d. What does the sampling distribution of p show?

  29.  Assume that the population proportion is .55.  Compute the standard error of the proportion for sample sizes of 100, 200, 500, and 1000.  What can you say about the size of the standard error of the proportion as the sample size is increased?

